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QUESTION 1

There is a high probability of a needed resource becoming unavailable. The project manager determines the impact to
be low; therefore, the MOST likely response to the identified risk is to:

A. Accept it
B. Avoid it

C. Minimize it
D. Mitigate it

Correct Answer: A

QUESTION 2

An approved change request has delayed the project start date without modifying the completion date. The project
sponsor has requested the project manager to pursue an option with the LOWEST initial cost. Which of the following
methods should the project manager consider?

A. Parametric estimating

B. Rolling wave planning

C. Crashing

D. Fast tracking

Correct Answer: D

QUESTION 3

Which of the following is a zero time activity?
A. Milestone

B. Critical path

C. Deliverable

D. Work package

Correct Answer: A

QUESTION 4

Which of the following defines a purpose of a Work Breakdown Structure (WBS)?
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A. The WBS helps to specifically identify and organize the scope of the project.

B. The WBS allows only one check of the specifics of the deliverables of the project.
C. The WBS makes the project deliverables less concise and concrete.

D. The WBS combines the project objectives into less specific criteria.

Correct Answer: A

QUESTION 5

After a change control board meeting, which of the following actions should the project manager do NEXT?
A. Notify the requester of the verdict.

B. Review the impact of proposed change.

C. Update the project scope statement.

D. Document the specific change request.

Correct Answer: A
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